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2A:

E M

SCE |2 (crel @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
odd 100,000& *43] 400
308 AXIMSOIA 19,913 19,786 127
18 SIS0t HAS A 19,913 19,786 127
OXMItH F=USEALE 29
19,913,000& 19,913
YA g8 48,500 58,100 29,600
301 22N = 48,500 58,100 29,600
14 JIEt2 8= 48,500 58,100 29,600
OdgXlt NA=SE 48,500
o BN SF(LE) 4002 %100, 0000H 40,000
e L TE=INE)
802 *100,0002H 8,000
o JIEt SKXHI(FXHE)
250@ *2,0000H 500
Sl Atz 2el 24,322 23,750 572
= 24,322
IIEZASEARHE 2l X (22H]) 22,322 21,750 572
= 22,322
201 er2&| 21,622 21,050 572
= 21,622
01 At22t2lt] 21,512 20,940 572
O (O1R) 21,512,000& 21,512
= 21,512
02 s3=gHl 110 110 0
O2XESAIAE SEZ(0IE)
110,000 110
= 110
202 04| 700 700 0
= 700
01 =LHA LI 700 700 0
O0dI(O1=) 700,000 700
= 700
AR CHEH] X2 2,000 2,000 0
= 2,000
201 et 3| 2,000 2,000 0
= 2,000
01 AtR2telHl 2,000 2,000 0
Oget2ad(Ha) 2,000,000& 2,000
= 2,000
ANE =AM JRFT(AUIJEXL) 1,500 2,000 A500
ANEAIH R (SS)(LUAEXD) 1,000 0 1,000
203 HR=H| 1,000 1,000
03 A= PR FAI| 1,000 1,000




SA UAEX D
HE: DMOLE QIAMHIA TH(Y ISR
9l AN FRAIE YREX(0I o 78
SA - B SRIBH) - MRAR - BAS A HIDEZ
SNEREEEEES)
1,000,000 1,000
AZAY HRZT(2A)(2 500 2,000 1,500
203 HR=4AY] 500 2,000 1,500
03 A= PR F&| 500 2,000 21,500
OAIZAY HRFT(2A 500,000 500
NHM2|BEE A= (IEL XS Al 2,414,432 1,791,576 622,856
= 127,593
< 4,500
Al 2,282,339
INESEEE Sl N 164,200 190,000 A25,800
NESE S84 Kol X3 47,200 6,000 41,200
201 et ] 2,700 3,000 A300
01 At2t2ltl 2,700 3,000 A300
Oger2gHI(X=EE) 2,700,000 2,700
202 OH| 2,500 3,000 A500
01 2LHOIH 2,500 3,000 A500
O=UBI(XIHEEL) 2,500,000& 2,500
405 AtaHE = 42,000 42,000
01 T ESFISHI 42,000 42,000
O=gEs LES 7,800,000& 7,800
OPS==4D| & HEEL 34,200,000 34,200
INESI=E e i 90,000 90,000
207 ARl 90,000 90,000
01 H1E4H| 90,000 90,000
O+ EXUE et=32t DB+
80,000,000 80,000
OSLANHZAN BF=
10,000,000& 10,000
ANE=EI =8 22 27,000 28,000 A1,000
308 XXM SOIA 27,000 28,000 A1,000
18 SIS EAS A 27,000 28,000 21,000
OXNZII=8 fE2el
13,5002 *2,000& 27,000
tlzgte EXSE 133,130 111,281 21,849
= 34,500
Al 98,630
HESAIKIIL 2= 69,000 70,000 21,000
= 34,500
Al 34,500
101 eI24d| 22,469 21,781 688
= 11,234
Al 11,235




2A:

RIREX 0t

M NHMBI|HEE DE(REUXHHL/NHLTA)
el delgte EXEY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORNZZENSE S 22,469 21,781 688
OINESAIXIIH EXIZAL 22,469
0 201 78, B80%1+ 1852 14,672
= 7,336
Al 7,336
oRsRERE 78,8803 452 3,550
= 1,775
Al 1,775
oz4itl 60,0002 82 480
= 240
Al 240
0 W SH| 30,0002 +82 240
= 120
Al 120
o4UHEEZ (AL, H3, D&, &)
18,942,000 *10.795% 2,045
= 1,022
Al 1,023
0 QAIIRAEE
18,942,000 3. 545%+12.81% 87
= 3
Al 44
o dXtRERIIE 78,8803 +5& 3%
= 198
Al 197
o 044l 1,000,000 1,000
= 500
Al 500
201 et 3| 45,531 46,219 688
= 22,766
Al 22,765
01 AtR2t2lt] 45,531 46,219 2688
OBAIXIt BE==== 35,231,000& 35,231
= 17,616
Al 17,615
ORStIASAI?IE B&+E
70,0002 102 *43] 2,800
= 1,400
Al 1,400
OLer23HIONESAIXII)
7,500,000 7,500
= 3,750
Al 3,750
202 04t 1,000 2,000 1,000




2A:

RIREX 0t

M NHMBI|HEE DE(REUXHHL/NHLTA)
el dlelgts EXNEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 500
Al 500
01 2LHoIH 1,000 2,000 21,000
O=UHHIONE S AIXIDH 1,000,000& 1,000
= 500
Al 500
IHEZAIXIOE ZAL- &HE 2,000 2,000
201 fet= 3| 2,000 2,000
01 AtR2te|H] 2,000 2,000
OHESAIXDIL HAAD S
200,000 *102f A 2,000
HEREs Rt - oE 40,000 13,000 27,000
201 el 40,000 13,000 27,000
01 At2t2ltl 40,000 13,000 27,000
OMNLRYDRT ZHEI} 242
1,000,000 #5214 5,000
ONLHIS RIINE 8|
5,000,000& »7A 35,000
gt EXE X2 22,130 26,281 A4, 151
101 e124d| 17,130 20,781 A3,651
M ORNZZ2NSE S 17,130 20,781 23,651
OFEUUXIA D JI2tHI2Z2 Xt 17,130
o= 78,8802 * 144 11,359
oRsREsE 78,8802 x39! 3,077
oA RSRIITE 78,8802 x5 3%
CAUEEZ (AL, H3, 108, &)
14,829,440 +10.795% 1,601
oI RALSH
14,829,440 +3. 545%+*12.81% 68
o =4l 60,0002 7 420
o nEH| 30,000 +7& 210
201 2= 3,600 4,000 A400
01 At2t2lt] 3,600 4,000 2400
Ooger2ddl(EX12el) 3,600
oFSMIMAA SE= MH
2,700,000& 2,700
o At 22l 900,000 900
202 04| 900 1,000 A100
01 =LHOLI 900 1,000 A100
O=UobHI(EX12te) 900,000 900
301 EtE NS 500 500
14 IIEt2 8= 500 500
O=S4t S AL LA
500,000 500




A HREX D
HE: NHMBI|HEE AE(SEUX SN/ N HLTA)
CI|: MEZ0| EXFHBAIALY 1= (CH9: &S1)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
MEHEO| EXHEAAE 2= 2,117,102 1,490,295 626,807
= 93,093
S 4,500
Al 2,019,509
S2HEE AIAE 2Y 146,209 216,869 AT70,660
201 L2 146,209 142,869 3,340
01 AtR2telb] 145,559 2,000 143,559
OE 2718t XIGHAIZS(GIS) 22IAAE KX
2= 22,700,000& *4=2D| 90,800
ORQHIEAEI(ER) 2Y ARE
1,800,000 1,800
OFRSUBESRAAE(LAIEHL]) SXES
13,239,750 *4 2 J| 52,959
02 3224l 650 140,869 140,219
OEE B8 It 650,000 650
C2HFA HEAY 169,092 57,229 111,863
201 L2 32,700 0 32,700
01 AFR2t2ltl 4,200 0 4,200
OJiz=Bligs & AlSF=A8 ZX
50,0003 *50H 2,500
Oget2dH(E2HFA) 1,000,000 1,000
OXAFDBIAE S BM 2
70,0003 5 23] 700
02 2324l 28,500 0 28,500
Oz HSHST WM ot SN 25
4003 2, 1000H 840
OL2EFAUE RS>
1,300, 0003 90K 2 11,700
OAOIEKAIS H2D| 2822
110,000& «12& 1,320
OFa2ZE 2 2ER=
70,0003 * 128 840
OFAEEANE RRE+=
100,000 *507H 2~ 5,000
OF2TEoHH RS
800,000 * 1170 2 8,800
202 OH| 1,350 1,350
01 2L A 1,350 1,350
O=Uob(=28FA) 1,350,000 1,350
206 =4I 900 900
01 =4l 900 900
OEsE BHHZ 0
6,000 150K 900
207 AN 25,000 25,000
01 g = 25,000 25,000




2A:

A EmEDIWEE DE(SERTSHL TALEA)
Cel: Met=o] EXEEAAH 2= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFAZEANE LR ES
25,000,000& 25,000
308 AHXIEMSOIE 7,742 57,229 14,513
18 SIS0t AS A 71,742 57,229 14,513
OF2H B2 AIA-I(KAIS) |XI2e]
18,173,000& 18,173
O=Fad=2llEek |fAl&el
18,015,000& 18,015
OXMIU =AEEAAEY 2=
35,554,000 35,554
401 AlZHIZ S OHYI 37,400 37,400
01 A28l 37,400 37,400
OZSAE NEg A= WA
1,100,000 * 1400 2 15,400
Ok:% A= WAl
11,0002 %2,0007H 22,000
CAEER S22 SUs 25 928,432 1,000,000 AT1,568
201 er2 3| 3,432 0 3,432
01 AtR2telHl 3,432 0 3,432
OloTHlA RHSARS
11,0003 =26CH* 123 3,432
207 ARl 925,000 1,000,000 AT75,000
02 MAHHEHI 925,000 1,000,000 AT75,000
OULINEED B2AHE BAE 75
925,000,000 925,000
FAEEAE 25 & 45,000 0 45,000
= 4,500
Al 40,500
201 fer23| 45,000 0 45,000
= 4,500
Al 40,500
01 AtR2t2lHl 45,000 0 45,000
OzHE F 200, 0003 #2254 A 45,000
== 4,500
Al 40,500
FAEEAE X & RAEs 26,000 46,880 220,880
201 Ler23 | 26,000 45,980 19,980
01 At2teltl 26,000 36,700 A9,700
Okzde 4X 200,000 #1307 2~ 26,000
KNETHEAAE 2 709,276 62,153 647,123
201 fer23| 44,700 59,153 N 14,453
01 AtR2t2lHI 44,700 59,153 14,453
O B2 HHI(THEAL) 3,700
0 AtR2telHl 900,000& 900




SA AEEX D
HE: NHMBI|HEE AE(SEUX SN/ N HLTA)
Cel: Met=o] EXEEAAH 2= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O KIHTHZAIALEY 2t R332 29
70,0002 102 +43] 2,800
OXHMEAIAMNE 22X 7 8- =
30,000,000 30,000
OXHETHEAIAMNY 22X 7 XNEES WA
10,000,000 10,000
OXNAEEII=S L]
50,0002 *207K 1,000
202 04dl 2,700 3,000 A300
01 2L AL 2,700 3,000 A300
O=U0ILI(RHZAL) 2,700,000 2,700
301 EtE NS 661,876 661,876
4 JIE2 8= 661,876 661,876
OXEMZAAE =83 s
661,876,000& 661,876
KETHEALALY =& 93,093 104,664 A11,571
= 93,093
201 =3 4,433 5,167 AT34
= 4,433
01 AtR2t2|HI 4,433 5,167 AT34
OXIETHZAALE AtR2teld]
4,433,000 4,433
= 4,433
202 04t 1,500 1,500 0
= 1,500
01 2LHoIH 1,500 1,500 0
OXIHTHZAIAY EE 0]
1,500,000& 1,500
= 1,500
308 XtXIEMSO0IE 87,160 97,997 10,837
= 87,160
18 SIS B HASAIE 87,160 97,997 10,837
OXIETHEALALY PIEFAIEH
87,160,000 87,160
87,160
AHH2IZHI(LAEXL) (OIEHIIE) 60,718 63,993 A3,275
= 11,230
Al 20,100
= 29,388
el 2E | 40,618 39,193 1,425
= 11,230
= 29,388
AR CHEiBHl X1 (2l2bl) 40,618 11,200 29,418
= 11,230
= 29,388




SA 2AEX D
Z=: AZ2IAY(UAEXD) (OIEHIIE
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 40,618 11,200 29,418
= 11,230
= 29,388
03 SRH(RINAHA) 222+ 40,618 11,200 29,418
O0AHYREX 40,618
oJlZ2=s 11,230,000& 11,230
= 11,230
o HLREE(XLA) 29,388
JlEs(ge14ss) 11,686,280& 11,687
= 11,687
g2+ 2,194, 4703 «50%+23] 2,195
= 2,195
M= Etettl 2,194, 4703 «30%+53] 3,292
= 3,292
E=E 40,0002 x3& * 122 1,440
= 1,440
AP He=Y 90,0002~ 12& 1,080
= 1,080
wWSEXHI 60,0002« 122 720
= 720
A=A 140,000& * 122 1,680
= 1,680
dE+E 2,194, 4703 «60%+23] 2,634
= 2,634
AteI2e=g
20,893 x10AI12++ 123 2,508
= 2,508
AXRSFII=E 111,420+ 15 1,672
= 1,672
QrEsg 40,0002 122 480
= 480
=38l 20,100 24,800 A4,700
JI=23Hl 20,100 24,800 A4,700
201 fer= 3| 13,500 15,000 1,500
01 At 2|l 13,500 15,000 21,500
FASE AR22lb] 13,500,000& 13,500
202 04| 1,800 2,000 A200
01 SLHoIH 1,800 2,000 A200
O=LH04HI 1,800,000 1,800
203 gR=8| 4,800 4,800
M EAEZER=A 4,800 4,800
ORKNEg g4yl 400,000 * 122 4,800




